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51. Suggest a synonym for the underlined word and choose the correct alternative.
Bruce Lee was adept in Martial arts.

(1) adopt (2) adapt

(3) proﬁcient (4) eminent

52. Choose a correct word for the phrase given :

‘an experienced person’
a. a mentor b.  a‘trustee
c. an employee d. a worker
Which of the above options is/are correct ?
(1) aonly -(2) a and b only
(3) b only ‘ (4) c and d only

53. Write a correct phrase for the word given :
‘a blockhead’

a. a dull person ) b. a head of the block
¢. _an arrogant one d. a blocked head

Which of the above options is/are correct ?
(1) a and b only (2) aonly
(3) candd only | ‘ (4) b only

54. Fill in the blank with the correct tense form of the verb given :

I saw two policemen (chase) a thief.
(1) will be chasing (2) will chase
(3) chasing ; : (4) were chasing
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55. Identify the correct meaning for the given phrase :
‘to end in smoke’
a. . bockall b. to fell
c. to fail d. to felt
Which of the above options is/are correct ? .
(1) aandb only (2) candd 'on]y
(8) conly (4) b only
56. Select the correct class-changing sufﬁx-f)reﬁx from those given below :
a. enslave u - b.  childish
c. teaching ; d. worked
Which of the above is/are correct ?
(1) aonly (2) aand b only
(3) conly ' (4) candd only
57. What is the correct noun form of the given word ?
Vivisection
(1) vivid - (2) vixen
(3) wvizier (4) vivisectionist
58. Which of the following words are written alike but pronounced differently ? '

a. raid b. read

c. red d. read

_ Which of the above is/are correct ?

(1) a and c only j (2) b and d only
(3) a and d only (4) b and c only
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Choose the correct passive form from the given alternatives :
Do not laugh at a beggai'. |

(1) A beggar ought not to be laughed at.

(2) A beggar should not be laughed at.

(3) A beggar should be laughed at.

(4) A beggar would be laughed at.

60. Choose the alternative with correct spelling :
Shyam was a man in his family.
(1) shred (2) shrewd
(3) shrew (4) shrewed
61. Match idiom ‘in the teeth of’ with one of the following :
(1) in front of (2) in contact with
(3) in the face of (4) in touch with
62. Choose the correct indirect form from the given alternatives :

Neha said, “Virtue is its own reward.”

(1) Neha said that virtue was its own reward.
(2) Neha said that virtue is its own reward.

(3) Neha said that virtue will be its own reward.

(4) Neha said that virtue has been its own reward.

63.

Identify ‘Complex Sentence’ from those given below.

o 1= My friend believes that he can do anything, if he has a lot of money.
b. A thing of beauty is a joy for ever.

c. Rupa got a job after she had completed her study.

d. He tried hard but he failed in his attempt.

Which of the above is/are correct ? L

(1) aandd only (2) b and c only
(3) conly (4) d only
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73. What does it mean :
‘The poem was too difficult for me to understand.’
a. I don’t understand the poem.
b. The poem was very difficult.
c. The poem was too hard.
d. I could not understand the poem.

Which of the above is/are correct ? _
(1) a and b only (2) b and d only
(3) a only . (4) conly

74. Find the correct ‘question for :
‘They will elect their chairman.’
(1) Who will be their chairman ?
(2) Will they elect their chairman ?
(3) Whom will they elect their chairman ?
(4) To whom they elect their chairman ?

75. Identity the correct sentence from :
(1) The teacher to accepted our invitation come and agreed with us.
(2) With us agreed the teacher to come invitation and our accepted.
(3) The teacher accepted our invitation and agreed to come with us.
(4) Our invitation accepted the teacher and agreed to come with us.

76. Choose the correct antonym of ‘tranquil’ :
(1) impatient (2) agitated

(3) vociferous (4) noisy

77. Find out number of pronouns in the following sentence :

‘I planted these coconut trees five years ago, one has started yielding coconuts, the
other hasn’t. i

(1) o1 @) 02
(3) 03 ' (4) 04
oAl HNEIS! FIA / SPACE FOR ROUGH WORK
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Which verb will be suitable to fill in the blank ?

‘My daughter Madhavi a good memory.’
(1) has been (2) has
3) 1is : (4) will be

79'

Point out the number of adjectives involved in

‘It is safer to send important letters by registered post than by ordinary post.’
(1) 04 : (2) 03
(3) 02 : (4) 01

80.

Identify correct use of article : !
(1) A Telugu is spoken in Andhra Pradesh.

(2) The Telugu is spoken in Andhra Pradesh.

(3) Telugu is spoken in Andhra Pradesh.

(4) An Telugu is spoken in Andhra Pradésh.

81.

Provide correct adverb for the blank :

‘The minister spoke about the problems that the State faced.
(1) fairly (2) hardly
(3) frankly (4) superbly

82.

Supply proper preposition for the blank :

‘His capacity _ hard work seems unlimited.’
(1) to (2) for
(3) in (4) with

83.

Find the correct conjunction for the blank :

you go there, you won't know what has happened.’

(1) Either (2) Unless
(3) Although (4) Neither
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84. Find the correct interjection for the blank :

¢

(1)
3)

! Don’t say a word of this to anyone.’
Oh (2) O
Alas (4) Hush

85. Identify a sentence with modal auxiliary :

a.
b.
¢
d.

Our country’s prestige need not suffer.

There need be no doubt about that.

Our country’s prestige does not need to suffer.
There does not need to bé any doubt about that.

Which of the above is/are correct ?

(1)
(3)

a and b only (2) candd only
c only A (4) donly

TO1

86. Give antonym of the underlined word :
His parsimonious habits are known to all his friends.

(1)
(3)

plentiful (2) lavish
luxuriant (4) ample

87. ldentify the imperative mood from :

(1)
(2)
(3)
4)

Why didn’t you tell me ?

When didn’t you tell me ?

Why, on earth, didn’t you tell me ?
Whom didn’t you tell ?

88. Which of the following sentences are correct ?

a
b.

£

d.

Either the workers or the director is to blame for this.
No person of that name live here.

Either the director or the workers are to blame for this.
I have ordered the cement but none have yet arrived.

Which of the above is/are correct ?

(1)
(3)

a and ¢ only (2) b and d only
a and b only (4) c and d only
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89. Identify incorrect sentences from :

a.

b.
c.
d

Literature has no other aim but entertainment.
Literature has no other aim than entertainment.
He asked that where I lived.

He asked where I lived.

Which of the above is/are the incorrect sentences ?

(1)
(3)

a and d only (2) bandc oniy
¢ and d only : (4) bandd only

90. Match the phrase :
‘Fair play’ with

(1)
(3)

good play (2) Dbeautiful play
honest method ) (4) famous drama

91. Supply correct meaning for :

‘A past master’

(1)

(3)

An expert (2) An old master
An ancient one (4) None of these

92. Supply correct meaning for :

‘Hush money’
(1) Cash money (2) Credit money
(3) Prize money (4) Bribe

93. Supply correct meaning for :
“The salt of the earth.’

(1)
(2)
(3)
4)

The bad people of earth

The cookers of the earth

The best people of the earth
The wicked people of the earth |
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94. Supply correct meaning for :
‘Lingua franca’
(1) Language of France
(2) Language of frank people b ot
(3) Language of a few people ! {
(4) Language of common people

95. Insert the correct punctuation mark at @ below :

‘Shelley says @ our sweetest songs are those that tell of saddest thought.’
(1) , (comma) i (2) ; (semi-colon)
(3) :(colon) (4) - (dash)

Directions (Q. 96 to 100) : Read the following passage and answer the items that follow.
Your answer to those items should be based on the passage only.

Passage

The land was parched and cracked throughout what had once been a fertile field.
It was now utterly barren, and the farmer surveyed it dismally. The relentless heat, which
could send temperatures soaring up to forty-five degrees Celsius, was his greatest enemy.
Tilak Ram mopped his brow with a brightly coloured rag and looked hopefully up at the
sky. It was a clear, shimmering blue, with not a cloud to be seen. He groaned, and with a
bent head, trudged back to his hut to renew his prayers for rain. :

He had to wait three weeks before the gods responded. He was squatting in the
shade of the hut, watching his youngest son playing with a puppy. Neither child nor dog
seemed aware of the scorching heat. The sky was now covered with clouds, and had been
so for the past week, but the promised monsoon had yet to arrive. Indeed, the grey blanket
had only served to intensify the heat, bringing along with it unbearable humidity which
seemed to make the day last forever. Tilak Ram had dropped into an uncomfortable lethargy,
for any movement drenched him with perspiration. The air was as thick as the pea-soup
which he had eaten the previous night for dinner though. The nights brought some relief
though it was short-lived, and the cool breeze which had soothed him a few days age had
now deserted him. He could scarcely remember when he was a boy like Raju, as exuberant
in the heat as in the chill of winter, when the only thing that could dampen his spirits was
the sting of the schoolmaster’s cane. Life had seemed so simple then, with no worries about
the crop, the harvest, fertiliser, the market, fluctuating prices, and the dreaded
money-lender...

ol BENTS! S0 / SPACE FOR ROUGH WORK
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Wait ! Was that a distant rumble ? No, he must be mistaken, the heat was beginning
to affect his brain ... there it was again, louder, and more insistent. The puppy whimpered
and dashed back to the safety of the hut. The rumbling grew, building up to a deafening
crack as jagged streaks of fire tore through the black clouds. A few droplets began to splatter
on the ground as Tilak Ram stood transfixed, gazing at the heavens. And then, the heavens
themselves burst open. The farmer was now soaked to the skin, but still stood his ground,
hands raised to the sky. “Praise the gods !” he cried. “The monsoon is here at last.”

In a few days, the land stood transformed. Tiny shrubs grew everywhere, and most
of the field wore a lush, green coat. The entire landscape looked fresh and clean, and the
birds, nesting in the trees, sang a paean of praise. The soil had awakened to the call of life
~ rain, the life-giver, had returned to open a new chapter in the book of nature.

96. The passage describes :

The delayed monsoon.

a.

b. = The calm and cool atmosphere.

¢.  The comfortable and luxurious life of farmers.
d. The drought-like situation.

Which of the above options is/are correct ?
(1) aand b only

(2) b and c only

(3) a and d only

(4) b, cand d only

97. How was Tilak Ram’s childhood ?
a. Crowded with anxieties and worries.
b. Very simple and straightforward.
¢. Dampened by the schoolmaster’s cane.
d. Studded with understanding.
Which of the above options is/are correct ?
(1) a and b only
(2) b and d only
(3) b and c only
(3) a and d only
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98. Tilak Ram, as a farmer, is described as
a. an enthusiastic and spirited farmer.
b. an anxious and worried farmer.
¢. a careless and reckless farmer.
d. arich and luxurious farmer. ' st
Which of the above options is/are correct ?
(1) a and b only (2) b only
(3) candd only (4) d only

99. As a farmer, Tilak Ram lives in
a. forty-five degrees Celsius temperature.
b.  cool breezes and soothing nights.
¢. abundant harvesting.
d. dreaded money-lenders and ﬂuétuating prices. H ;

Which of the above options is/are correct ?

(1) aandb j k. .
(2) bandec
(3) aandd
(4) banda

100. The passage conveys the message
a. One has to wait for betterment of time.
b. Drought is an everlasting c_alamity.
c¢. Innocent children and animals are away from worries.
d. The rain is a ‘life-giver’.
Which of the above options is/are correct ?
(1) aandbonly (2) a and c only
(3) b and c only (4) a and d only
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101. TENEM SR &b FelTIu] JerwEog qufacicl Jeawst ior 2
(1) oEdeE YR (2) IE &R
(3) THTE ATEH (4) faemewe IngE
Which Chief Minister of Maharashtra has enjoyed the post for the longest period of
time incessantly ?
(1) Vasantdada Patil (2) Sharad Pawar
(3) Vasantrao Naik (4) Vilasrao Deshmukh
102, “FRE-3e-3RGa” ¥ W TS TG U7 A SR g seE 6 2
(1) TH (2) R
(3) e | (4) @l
In which language Raja Ram Mohan Roy published the weekly “Mirat-ul-Akhabar” ?
(1) Turkish (2) Persian
(3) Arabic : (4) Bengali
103, FTAT YU TR Y ST T kel ?
(1) ¥ s T (2) FFE G
(3) 3 HA (4) ST HHS
Which organisation founded an orphanage at Pandharpur ?
(1) Satya Shodhak Samayj (2) Brahmo Samaj
(3) Arya Samaj (4) Prarthana Samaj
104. ‘TR @I QoW S §d d fewor Five 2

(1) fermT 2 foR
3) fmem : (4) e
Where was ‘Chavdar Tank’ agitation organised ?
(1) Alibaug (2) Chirner
(3) Shirdhon (4) Mahad
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108.

26 : A

1970 - 71 @ 2004 — 05 A1 F@HA A frafq @R, @@aﬁaﬁaﬁwmm
TegaT ?

(1) ﬁamaﬁq&ﬂam

(2) UM, ISR 9 T oA e are

3) gl e FaEfdd o

(4) i aw, R, e ek axen fafda aw©

Which among the following was not the change in the compbsition of India’s export
during the period of 1970 — 71 to 2004 — 05 ?

(1) Rise in exports of agricultural goods
(2) Rise in exports of fish, fish products, fruits, etc.
(3) Rise in exports of electronic goods

(4) Rise in exports of engineering goods, diamondé, jewellery, etc.

109.
- e e UERE e ?

@T&ﬁa&aﬁﬁvﬂwﬁ?ﬁﬁwmmmmmmmm

QAT | (2) feran S
(3) Gew HfE (4) TR G

Which among the following cémmittees recommended the reduction in priority sector
lending from 40% to 10% ?

(1) Swaminathan Committee . (2) Chelliah Committee
(8) Narsimham Committee (4) Kelkar Committee

110.

YRAHEY 1980 § 2005 A1 HITESHE, WEIoS! HIVTT TE HROT 3 TSI qeld HRT
T ? | :

(1) A TEmdE 9e

(2) SN @did e

(3) srfugrAmHa ae

(4) I FHEA HBum= Feiidie 16

Which among the following was not the main reason for Fiscal Deficit in India during
the period of 1980 to 2005 ?

(1) Rise in non-plan expenditure

(2) Rise in interest expenditure

(3) Rise in subsidies

(4) Rise in revenue from indirect taxes
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111, YRARAT Gealie Fisear SRiFar g o @efiertsl S A1 Fagal ?

(1) e A (2) TR I

(3) favavean dem (4) & FASE

Which among the following was nof the plan before the beginning of Five Year
Planning Programme in India ? ' ‘

(1) Gandhi Plan (2) Madras Plan

(3) Vishveshwarayya Plan (4) Bombay Plan

112, Treles! HUR Rared 9e teafis deee e 3Ry @ 2
(1) woafufea i fawm
(2) 3HY HeH! HFA
(3) TS geEr FREA
(4) IMYFHIHTT 7 AU
Which among the following was the main objective of the Ninth Five Year Plan
of India ?
(1) Growth with equality
(2) Eleven Point Programme
(3) ‘Garibi-Hatao’ Programme
(4) Modernisation and Self-sufficiency

113. Eelicis! S WEaee SR 6T ?

(1) @@ $ (2) YarRavaTde A

(3) eI faawoT Saw (4) THEET G

Which among the following is not the cause of inflation ?

(1) Black Money (2) Increase in Money Supply
(3) Public Distribution System (4) Population Growth

114. GIEEdS HOTA 39T HEaTe Igvarr gt ?

(1) aRqH Td FH HOT (2) i o

(3) HEse @aldd are (4) FHeUdA G
Which of the following is not the remedy to control inflation ?
(1) Reduce Transport Cost (2) Monetary Policy

(3) Increase in Public Expenditure (4) Rise in Bank Rate
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115, IRAME Gl FUe 3T faHEE RO GeienH
9. T EEMH. |
F. W 9 R AR =3
arelt feciedn HTE WeUa add §d HRUl INeedd 2
(1) 3RHETE (2) g
(3) WG (4) BIFAR
The reasons for development of the cotton textile industry in India are as follows :
a. Natural harbour makes the import and export easy.
b. Humid climate.
¢.  Availability of cheap and ample labour.
Which of the following cities observes all the reasons mentioned above ?
(1) Ahmedabad (2) Mumbai
(3) Madurai : (4) Coimbatore

116, RN fodl yergeE fawm smwa ?

1) 4 (@FN) (2) 5 (4=)

3 6 (W) (4) 7 (§m@)

How many administrative divisions are there in Maharashtra ?
(1) 4 (four) (2) 5 (five)

(3) 6 (six) . (4) 7 (seven)

117. e el 2osh &9 & e fodl 29 ol WA 3TRd ?
(1) 10-3 2F+ &7 9 145 TFF oAl%
(2) 24 9 &9 9 167 2% S
(3) 12:5 FF &F T 18:6 TFF A%
(4) 3-4 T &7 9 194 THH @S

What percentage of area and population of the world is found in India ?
(1) 10-3 percent area and 14-5 percent popuiation

(2) 24 percent area and 16-7 percent population

(3) 12-5 percent area and 18:6 percent population

.(4) 3+4 percent area and 19-4 percent population
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118. ST WRRETS fRA SQwE YehIHT §eT 3MEas.
(1) &g § ool 2) TR
(3) (4) <ECAYE
type of soil is found in coastal areas of South Maharashtra.
(1) Saline and Alkaline : (2) Regur
(3) Laterite (4) Marshy

119. M @ 990 oF S (SEvEEAl d@re fBE 9reel) a1 e gl sEn S
AT el Vel ?
(1) TEETR s C(2) TIIEPR SN
(3) TifeEEPR ST (4) fowRvR SERE

What is the name of the reservoir where lake tapping technology was used successfully
for the first time in Asia ?

(1) Shivsagar reservoir (2) Nathasagar reservoir

(3) Govindsagar reservoir (4) Siddheshwar reservoir

120, S (M FARERA 8 FafuE R ?

(1) ATmerE 2) g

(3) SRUTER W @ Bm

Which State has the largest area under forest ? ;
(1) Nagaland ! (2) Mizoram

(8) Arunachal Pradesh (4) Tripura

121. EE feeien @ fegam fermpiiae ywmr wafa sifus s 2

(1) ¥HaE ITR 2) faggt

(3) TR (4). 3o

Identify the district from among the following which has the highest sex-ratio ?
(1) Mumbai Suburban (2) Sindhudurg

(3) Ratnagiri ; (45) Thane
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122. Wmmwmmwma@7

3. fawmEmEn sfeR

¥ e T

1) v N 2) %

3) o afor @ QA (4) 3 anfor 7 = T

What do the principles of India’s National Environment Policy include ?
a. The right to development

b.  Economic efficiency ; .

(1) Only a : (2) Onlyb

(3) Bothaandb (4) None of a and b
123, ‘e W wefais FOMB AG 7
1) 3N ST e 2) NO, 3T S0,
(3) CO 3mfor CO, (4) NH, 3T SO,
‘Acid rain’ is mainly caused by increased concentration of
(1) ozone and dust (2) NO, and SO,
(8) CO and CO2 . (4) NH3 and SO3
124, R SElHie Sy Wefa IR -
(1) Safafagar (2) wRage ag
(3) THeUH WS (4) AR A
Kyoto Protocol is concerned with
(1) Biodiversity ; (2) Green-house gases
(3) Endangered species (4) None of these
| 125. TEE SO U SiE HOTT 2
._.. 1) sy | (2) TEd
(3) WIEHY (4) WARY
| Which were the first living beings to establish on rocky slopes ?
f (1) Toads _ (2) Grasses
; (3) Lichen (4) Mosses
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126. 9& TS WaE @reteris! ﬁ#ﬂﬁﬁ i gwar wald S 3R ?

(1) aifes @
(3) Yad S (4) Sl 9 Yad UaA

Which of the following power generatmg sectors has the highest installed capacity in
India today ?

(1) Thermal (2) Hydro

(3) Wind (4) Hydro angl Wind together

127. TEE ‘AyEIR E@9ies ﬁFm'ﬁﬁwaw AT 3 7
1) ‘ (2) dfHE
(8) M (4) feg-gmor
In which State is the National Institute of Oceanography located ?
(1) Kerala (2) Tamil Nadu
(3) Goa (4) Diu-Daman
128.

T AT STeel TE SRARt Ay e A FH sftgfaa s sl 2

(1) 2008 - (2) 2009
(3) 2010 . (4) 2011
When were the present National Ambient Air Quality Standards notified ?

(1) 2008 , i (2) 2009

3) 2010 | 4) 2011
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129.

130.

32 A

Tefets gl faue SR 2

&, U 9 werufasen gew faum siveen fesvmmed HagmET SR s,
¥, faure 9 Ugudl fHasusa HeErl ST,

&, foume 8 four oRue geeiql STETded] Masu@ia 7a uaren sifteR e
5. foum wucen srfavere 3 FwamEn sfveR A9,

(1) A % (2) 9, %

3) F Fd (4) aOcdE FORE A

Which of the following statements is not correct ?

a.  Members of Z.P. and Municipal Corporation have right to vote in the election of
Vidhan Parishad.

b. Members of Vidhan Sabha participate in the Presidential election.

c. Members of Vidhan Sabha and Vidhan Parishad have no power to vote in the
Vice-Presidential election.

d. Vidhan Parishad has no power to move a no confidence motion.

(1) aonly (2) bandd

(3) conly (4) None of the above
TR we Fi=r GEEY B,

A EE A

¥, WU, 399 9 99 AW 99T 9e

F. T9 AR

AF FIG IR U TR ?

(1) 3 & (2) 9 G

@ Fa% @) o wd

Gram Sabha includes

a. All the people
b. Sarpanch, Dy. Sarpanch and all the members of Gram Panchayat
c.  All the voters

Which answer is correct ?
(1) aonly (2) b only
(83 bandc (4) All the above
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131. 9RA ¢ TURSY 3R SR

¥ HRAI GEEE ARIE R

3, 9Rd G 1Y IR

%, URA @ uHfRY T e

= WWW%WWWW%

T I A ‘
(1) 3 %ad (2 #IF

(3) 9= (4) € S
India is a Republic State because

a.  There is a parliamentary democracy in India

b. India is a sovereign nation

c. Indiais a secular state

d. Constitutional head of India is elected indirectly by the people for a specific period.

Give the correct answer.

@) = only (2) aandb

(3) bande (4) d only
132, 9eF TN ITEANA 0T B 3R

(1) ¥ATHS

(2) FERR

(3) ToHE

(4) ISl HRE TS

The post of Deputy Chief Minister of the State is
(1) Constitutional |

(2) Legal

(3) Political convenience

(4) Necessity of front-led go_vermhent
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133.

34 : ; A
FIUTT FAIGEEITAR FRrqoman ifee’ &1 qerqd sifuer " wAfEE swaw e 2
(1) 66 | e AR o (ha
@) 74 ' 4) 86

By which constitutional amendment has the Right to Education been included as a
Fundamental Right ?

(1) 66 (2) 73

3) 74 (4) 86

134.

g FEeUf ST AU o7 S 2
(1) TP (2) TsIUA
(3) g (4) g@ﬁaia-—rawrgaa

Who appoints the State Election Commissioner ?

(1) President of India ~ (2) Governor

(3) Chief Minister (4) Chief Election Commissioner

135.

wﬁﬁﬁwmqﬁm@qﬁmmﬁ7

(1) wert oo 2 W fats

3) o fadus @) T TH AR

Which of the following bills is not introduced iﬁ a Legislative Council ?
(1) Private Bill (2) Government Bill

(3) Money Bill : (4) None of these
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140. ¥ YA Tod Wesarerd g faemeted, favivar qeiedl we Afearear s
I0eT FH TRA 3T Y ey §d TS 9 FHRenfEd SeuiA woft fod ama 2
(1) 9Ra TFY
(2) AR GeHEH
(3) YNaM Hared =ARTAd
(4) &% IMHAN JRG g Fea FHedw H

Who has recently directed all the States and Union Territories to ensure that basic
toilet facilities, particularly for girl students, are provided in all the schools within a
period of six months ?

(1) The President of India

(2) The Prime Minister of India

(3) The Supreme Court of India

(4) The Minister of Heal_th and Family Welfare of Central Govt.

141, WEETs HvE A JHA A S F 50 TR HfiE e sewhd

& R ?
(1) 2| (2) e
I Euli T 4) e g2
Which of the following magazines has recently named Mamta Baner:]ee as among the
50 most influencial finance personalities ?
(1) Time . (2) Forbes
(3) Bloomberg Markets (4) India Today
142, & W= 3% fear a1 qEwE dEs e 1,
(1) fawet sTe (2) feo® =m0
(3) i =Y (4) W& fam
The author of the book titled ‘The Future of India’ is
(1) Bimal Jalan (2) Deepak Chopra
(3) Amitav Ghosh (4) N.K. Singh
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143, Greferds e emEr 9 deead ga1 goe U GHEY el SR 2
1) =FER 2)
(3)  SHMIAE @) 9
Which one of the following countries joined as the eighth member of the SAARC ?
(1) Myanmar ' (2) Iran |
(3) Afghanistan (4) Thailand
144, FAWHE TRATET BV FW SIS GRE UM ST A S SR 2
1) *wBd W (2) TSR feeet
(3) uf=m " ) @ uR
Which part of India has been declared as the world heritage by the UNESCO ?
(1) Rann of Kutch . . (2) Forts of Rajasthan
(3) Western Ghats (4) Eastern Ghats
145. mwmﬁﬁmmmmwwwwﬁmm
A H0T Bd 2
(1) foom FaH | 2 favm s
(3) €. g\wE (4) H. TRSH
Who was the Chairman of the Committee ap[iointed for Sugar Industry which
submitted its report to the Prime Minister recently ?
(1) Vijay Kelkar (2) Vijay Bhatkar
(3) D. Subbarao ' (4) C. Rangar’ajan
146, SN FA I TeARE WA AN GE el ?

(1) ~ 1991 (2) 1995
(3) 1999 (4) 2002
In which year did the Central Government start ‘Midday-meal’ scheme ?
(1) ~1881 (2) 1995
(3) 1999 (4) 2002
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147, AT 2008 dST 2012 T R iede Wih AR Yo MR G S 2
(1) #R =MW 2 g FR
(3) EEF g (4) TS TR AR

Name the only Indian who won individual medal in London Olympics 2012 as well
as in Beijing Olympics 2008 ?

(1) Mary Kom (2) Sushil Kumar

(3) Saina Nehwal (4) None of these

148. ¥ 2011 =1 SHUHIER WeUY TSI Heiid FHI0T &0 S el HOl foedl @ ?
(1) 800 (2) 855
(3) 880 (4) 883

According to the Census 2011, what is the proportion of females per thousand males
in Maharashtra ?

(1) 800 (2) 855
(3) 880 (4) 883

149. WENIY TSATA] e QUAG AV “HRA T A HIvER QU § 2012 WEA S0l ¥aH
FUATT AT 3R ?
(1) SesT YR (2) 3FSE-3TA
(3) W &=H (4) FEOTSH-SHEST

Who has been conferred the ‘Bharat Ratna Lata Mangeshkar Award by the
Maharashtra Government for the year 2012 ?

(1) Anandji Shah (2) Ajay-Atul
(3) Ram Kadam (4) Kalyanji-Anandji

150. 9RAWE fed SHHAH Wied SR HIS AN FUAT A a2

(1) feeed (2) STRHGETS

(3) Hes | 4) [

In which city was the first ‘Vyasanmukti Sahitya Sammelan’ organised in India ?
(1) Delhi : (2) Ahmedabad

(3) Mumbai (4) Pune
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Al - (g 1 &6 ge....) ¢

(8)

(9

yeAgfaened fafed Selen fafte arfe &9 @M (W6 %) 9. Ayt
STYRET a1 §T FIEER Fed HH Fediil oS4l F0AAT I2WH et IR, W A
S 9 WOR SHCENER WEAM SR holedl Cqdeimed  @mar g sy
FogETd SfufaH-82” INA WIGOR FRAT FA A J I Fad FAA Th

Nl HREMEA Y/ fHa T08 Us B9R GHe cerer ey U g,

R JYAUEREES AT fafgd Feieh 92 HUeAHa IUGERIEn & YAy W s
THAFTARY U S WA 3R, W U IeRY SuagEl SUSaRM dest
FUBFGET WNT-1 GHaTHHS 7 [aaTdl Uld &{0l AEyaesh A8,

T
T H. 201 WA A6l AY SOIAEE BN qerd FAST el ?
(1) @M T (2) 3vatEs fqumErR
(3) TSN WA T (4) YIS TGt

& TR A IR (3) TS TR @7 I SR, @M A TR W 43)

Rfer, AT WIEAATATOY . 201 FH S-S «®» ¥ adw i BrIfET e
Tl YIS 3T

%200 O @ @ @

. 3TV Ugdld WA YeAYfhdiel Noie Syl el SUGHHIG @ qrelel wEdad
Qe ITUGFae & 1 IARAEEAT Gafda S oIl SrEifhd e e,
THIA HFd FHdl ed dictud auda, ifaer a vge Ue a9,
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